Macro U6th		Workbook	Name………………………..………….

Inequality
Starter - Recap Question
Instructions: Test yourself with the below quick question
What is the relationship between income and wealth?
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Presentation 1 – Intro to Inequality
Complete the activities below so as to have a complete set of notes:
General Definition: Inequality
……………………………………………………………………………………………………………………………………………………………………………………
Economists examine inequality in two main ways in two ways.

Definition: Income Inequality
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Income is a flow concept, therefore income inequality relates to differences in people’s income flows from wages, dividends, rents, etc.
Stat: In the UK in 2018, the top 20% of earners had ______ times the disposable income as the bottom 20%.

Definition: Wealth Inequality
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Wealth is a stock concept therefore income inequality relates to differences in people’s stocks of assets such as house ownership, savings, financial sessions such as shares, etc.
Stat: In 2018, the world’s wealthiest ________ individuals have the same wealth as the poorest 50% of the global population (_____________________)

N.B. The causes of inequality have very similar analysis to the causes of poverty covered previously
[image: ]Article Task: Inequality vs Growth
Instructions: 
· Read, highlight and annotate the article
· Answer the questions
· Discuss your answers as a class
Article
Up to a point, redistributing income to fight inequality can lift growth 
On the campaign trail in 2008 Barack Obama stumbled into a memorable encounter with Joe “the Plumber” Wurzelbacher. Explaining the logic of a proposal to raise taxes on the rich, Mr Obama mused that “when you spread the wealth around, it’s good for everybody”. The soundbite, soon an attack-ad mainstay, failed to derail the Obama campaign. But the disagreement between Joe the Plumber and Barack the Senator still trips up governments around the world: is there a trade-off between economic growth and redistribution?
Some inequality is needed to propel growth, economists reckon. Without the carrot of large financial rewards, risky entrepreneurship and innovation would grind to a halt. In 1975 Arthur Okun, an American economist, argued that societies cannot have both perfect equality and perfect efficiency and must choose how much of one to sacrifice for the other.
While most economists continue to hold that view, the recent rise in inequality has prompted a new look at its economic costs. Inequality could impair growth if those with low incomes suffer poor health and low productivity as a result. It could threaten public confidence in growth-boosting policies like free trade, reckons Dani Rodrik, of the Institute for Advanced Study, in Princeton. Or it could sow the seeds of crisis. In a 2010 book Raghuram Rajan, now governor of the Reserve Bank of India, argued that governments often respond to inequality by easing the flow of credit to poorer households. When the borrowing binge ends everyone suffers.
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Description automatically generated with low confidence]Pinning down the precise relationship between growth and inequality is a challenge. Some studies reckon inequality is mildly bad for growth. Others suggest the relationship changes as poor countries grow rich, while still others reckon it is the trend in inequality rather than its level that matters.
Research by economists at the International Monetary Fund aims to add clarity to the debate. In a 2011 paper Andrew Berg and Jonathan Ostry argued that it is the duration of spells of growth that is most important for long-run economic performance: getting an economy growing in the first place is much easier than keeping the growth spell rolling. They reckon that when growth falters, inequality is often a culprit. Latin America’s Gini index is about 50, well above that in emerging Asia, which has a Gini of about 40. (A Gini index is a measure of income concentration that ranges from 0, representing perfect equality to 100, where all income flows to a single person.) Were Latin America to close half of that gap in inequality, its typical growth spurt might last twice as long, on average.
[image: ][image: http://ib.adnxs.com/seg?t=2&add=6917241]Others reckon that it may not be inequality itself that harms growth but rather governments that tax and spend to try to reduce it. In a new paper Messrs Berg and Ostry and Charalambos Tsangarides tease out the separate effects of inequality and redistribution. They turn to a data set put together by Frederick Solt, a political scientist at the University of Iowa, containing Gini indices for 173 economies spanning a period of five decades. Mr Solt provides Ginis for both market income and net income (after taxes and transfers). The difference between the two gives the authors a measure of redistribution (see chart). In America, which does relatively little of it, redistribution trims the Gini index by roughly ten points. In Sweden, in contrast, it cuts the Gini by 23 points—more than half. Using these figures, the economists can separate out the different effects of redistribution and inequality on growth.
The authors find that governments in more unequal countries redistribute more, and rich economies do more than poor ones. As a result, differences in inequality across rich countries are mostly down to the generosity of redistribution; Germany is more unequal than Britain before redistribution but much less so after.
Up to a point, spreading the wealth around carries no growth penalty: growth in income per person is not meaningfully lower in countries with more redistribution. But economies that redistribute a lot may enjoy shorter growth spells, the authors reckon. When the gap between the market and net Ginis is 13 points or more (as in much of western Europe) further redistribution shrinks the typical expansion. The authors caution against drawing hasty conclusions. Details surely matter; nationalising firms and doling out profits would presumably be worse for growth than taxing property to fund education.
[image: http://cdn.static-economist.com/sites/default/files/imagecache/original-size/images/2015/06/blogs/economist-explains/20150620_woc505.png]Inequality is more closely correlated with low growth. A high Gini for net income, after redistribution, corresponds to slower growth in income per person. A rise of 5 Gini points (moving from the level in America to that in Gabon, for instance) knocks half a percentage point off average annual growth. And holding redistribution constant, a one-point rise in the Gini raises the risk an expansion ends in a given year by six percentage points. Redistribution that reduces inequality might therefore boost growth.
If redistribution is benign, that could be because it substitutes for shaky borrowing. In their 2011 paper Messrs Berg and Ostry note that more unequal societies do poorly on social indicators such as educational attainment, even after controlling for income levels. This suggests that households with lower incomes struggle to finance investments in education. In a recent paper Barry Cynamon of the Federal Reserve Bank of St Louis and Steven Fazzari of Washington University in St Louis reckon most Americans borrowed heavily before 2008 to prop up their consumption. That kept the economy growing—until crisis struck. Sensible redistribution could mean the difference between a healthy growth rate and one that is decidedly subprime.
Questions
What is the relationship between inequality and economic growth? 
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Why is inequality bad for growth? 
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Presentation 2 - Measuring Inequality
Complete the activities below so as to have a complete set of notes:
Definition: The Lorenz Curve
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
On the x-axis it plots percentiles of the population according to increasing income or wealth 
On the y-axis it plots cumulative income or wealth
E.g. An x-value of 45 and a y-value of 14.2 would mean that the bottom 45% of the population controls 14.2% of the total income or wealth.
Diagram: Shapes of Lorenz Curves
	



Line of Equality: _______________________________________ – implies each household has an equal share of a nation’s income.
Low Inequality: The existence of inequality in income means the Lorenz curve is bowed __________ from the line of equality.
The poorest 50-percent of the population have __________________ 50-percent of the income
High Inequality: More inequality means the Lorenz curve bows ____________________ the line of equality
Definition: Gini Coefficient
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Equation:
Key Notes: Workings
The Gini coefficient condenses the entire income distribution for a country into a single number between 0 (____________________) and 1 (________________________________).
The higher the number, the ___________ the degree of income inequality. 

Elaborate: Elaborate on the implication of the below
A Gini coefficient above 0.5 is often seen as an important point.
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………

Stats: Gini coefficients
Norway: _______, UK: _______, USA: _______, South Africa: _______

Key Notes: Alternative measures of Inequality
Definition: Quintile Ratio
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Stats: Quintile ratios
Norway: _______, UK: _______, USA: _______, South Africa: _______

Definition: Palma Ratio
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Stats: Palma ratios
Norway: _______, UK: _______, USA: _______, South Africa: _______
Extension Task: Inequality - Are we measuring the right things? 
[image: Map

Description automatically generated]Instructions: 
· Read, highlight and annotate the article
· Answer the questions
· Discuss your answers as a class
Article
I read a blog on inequality which explained that the evidence we have suggests that inequality in terms of income has been flat or falling in recent years. This is contrary to many people’s perceptions. So what is going on here?
At the moment, it might be tempting to think this is the result of the social psychology around what people believe to be true. For example, do people have ‘confirmation bias’ that means they tend to ignore evidence that disagrees with their prior beliefs? Or alternatively at a time when incomes have not grown strongly, do people associate the modest gains in their own income with increasing inequality?
These are all good points, but I want to explore some other explanations. In particular, we should ask the question of whether we are measuring the wrong thing?
[image: https://blog.ons.gov.uk/wp-content/uploads/sites/6/2017/03/chartimage.png]Firstly, any set of statistics – and the data sources underpinning them – will have strengths and weaknesses. We always need to put our data in context of others. The main alternative data source to our inequality statistics is the Households Below Average Income statistics published by the Department of Work and Pensions. That tends to show broadly the same pattern in household income over time, so we should have a reasonable degree of confidence in our statistics.
Secondly, is the metric we are using the correct one? Inequality is not necessarily an easy concept to quantify. The most commonly used measure is the Gini coefficient, which looks across the whole population. But there are other measures that look at inequality in a different way, for example, worrying about inequality at the top or bottom of the income distribution. We can probably rule this out as an explanation in this case as a wide range of measures tend to show falling income inequality. But we can completely never discount the idea that there might be some particularly salient aspect of inequality that our measures do not fully capture.
Thirdly, inequality in what? The figures we publish relate to inequality in income. But maybe it is inequality in wealth that is relevant here. The statistics on wealth are less strong than income – reflecting in part that wealth is often more difficult to measure. The data we do have only covers the eight years from 2006 to 2014. This does suggest a small rise in the very recent years, but it is very difficult to draw any form conclusions from this data as the early period might well have been affected by the financial crisis.
The issue might be more profound than income or wealth inequality. Rather it might be a concern that of inequality in life chances. By this I mean that individuals born into lower income or wealth families have less opportunity to move up the ladder, compounding the effects of low income or wealth. Another way of saying this is that falling social mobility might make existing inequality feel more pernicious. Evidence on social mobility is much more sparse as to get a complete picture you really need to follow individuals over a good proportion of their life. The Social Mobility Commission present some evidence to suggest that inter-generational income mobility has declined, though much of the evidence focuses on trends in the latter half of the twentieth century rather than more recent changes. Broader measures of recent social mobility provide a mixed picture.
Fourthly, our data cover the UK, but it might be that inequality issues do not stop at national boundaries. If, for example, you read about a Brazilian footballer leaving the Premier League to earn millions of pounds a year playing in China, that might make you think inequality is worsening. But this is nothing to do with UK inequality. It is very difficult to provide a global measure of inequality, as comparable income data are not available, so it has to be estimated. A few people do try to look at statistics globally, and a good summary is provided by Max Roser. This shows measures of poverty and deprivation have been falling strongly across the world, and that inequality is falling, though remains high.
It is not clear to me that any of these are particularly compelling, though they might all play a part in explaining why people might disagree on trends in inequality. Perhaps the moral of the story is to make sure as statisticians we are always alive to what our statistics measure and that many of the issues we try to grapple with are often complex and multifaceted. The key is always to understand the question you are trying to answer and how well your data or statistics are up to the job.
Some of the changes we’re making to our data on household finances at ONS will leave us better able to consider some of these questions in future. In particular, greater use of admin data alongside existing surveys should increase our ability to look at the top and bottom of the distribution; a move towards integrating surveys on household finances will allow us to look at inequalities in people’s income, spending and wealth together; and increased availability of longitudinal data will facilitate analysis of how material living standards are changing for the same people over time.
These changes are starting in the data we’re currently collecting for 2017, and one of my colleagues will be blogging later in the year to explain what they will mean for ONS analysis and how they will benefit anyone with an interest in better understanding what’s happening to economic inequality in the UK.
Questions
What issues are there in how inequality is measured in the UK?
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
How could these issues be addressed?
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Video Task: Reducing Inequality 
Instructions: 
· Watch the stimulus video: Solutions to Income Inequality | UBS Nobel Perspectives
· Brainstorm and note down policies that might reduce inequality
· Discuss your ideas with the rest of the class





Policies to Reduce Inequality










Presentation 3 – Policies to Reduce Inequality
Complete the activities below so as to have a complete set of notes:
LCAs task: Complete bullet points to explain how the below policies reduce inequality

Progressive taxation
…………………………………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………………………………
.…………………………………………………………………………………………………………………………………………………………………………… 
…………………………………………………………………………………………………………………………………………………………………………
	       … therefore reduced inequality.

However:
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
………………………………………………………………………………………………
Welfare Payments
…………………………………………………………………………………………………………………………………………………………………………………
.…………………………………………………………………………………………………………………………………………………………………………… 
       … therefore reduced inequality.
However:
……………………………………………………………………………………………………………………………………………………………………………………

Minimum Wages
…………………………………………………………………………………………………………………………………………………………………………………
.…………………………………………………………………………………………………………………………………………………………………………… 
       … therefore reduced inequality.
However:
……………………………………………………………………………………………………………………………………………………………………………………
Maximum Wages
…………………………………………………………………………………………………………………………………………………………………………………
.…………………………………………………………………………………………………………………………………………………………………………… 
       … therefore reduced inequality.
However:
……………………………………………………………………………………………………………………………………………………………………………………

Unemployment Policies
…………………………………………………………………………………………………………………………………………………………………………………
.…………………………………………………………………………………………………………………………………………………………………………… 
       … therefore reduced inequality.
However:
……………………………………………………………………………………………………………………………………………………………………………………

Education
…………………………………………………………………………………………………………………………………………………………………………………
.…………………………………………………………………………………………………………………………………………………………………………… 
…………………………………………………………………………………………………………………………………………………………………………
	       … therefore reduced inequality.
However:
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………

Healthcare
…………………………………………………………………………………………………………………………………………………………………………………
.…………………………………………………………………………………………………………………………………………………………………………… 
       … therefore reduced inequality.
However:
……………………………………………………………………………………………………………………………………………………………………………………

Growth
…………………………………………………………………………………………………………………………………………………………………………………
.…………………………………………………………………………………………………………………………………………………………………………… 
…………………………………………………………………………………………………………………………………………………………………………
	       … therefore reduced inequality.
However:
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………

Diagram: The Kuznets Curve 
Depicts the idea that inequality often rises during a phase of rapid industrialisation and urbanization but there comes a point when increased welfare provision, progressive taxes and more balanced income growth across industries leads to a fall in overall inequality at higher per capita incomes.




N.B. The policies to reduce inequality can also be used as policies to reduce poverty



Presentation 3 – Inequality & Capitalism
Complete the activities below so as to have a complete set of notes:
Discussion Question:		Why do free market systems inevitably lead to inequality?
	Note Space:



Discussion Question:		Why might inequality be essential in a capitalist system?
	Note Space:



Different viewpoints: Consider the quotes below
Karl Marx: ‘Capitalist production … [generates wealth for the bourgeoisie] … only by sapping the original sources of all wealth - the soil and the laborer’
Milton Friedman: ‘…the free market system distributes the fruits of economic progress among all people. That's the secret of the enormous improvements in the conditions of the working person over the past two centuries.’
Discussion Question:		Who’s opinion capitalism do you support more? Marx’s or Friedman’s?
	Note Space:


Assignment: Poverty & Inequality 
SECTION A (Short Answer Questions)
1. In the diagram there are two Lorenz curves representing two countries, Denmark and Namibia.

[image: Chart, line chart
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a) What might be inferred from the chart?
[1]
A	Indirect taxes must be higher in Denmark than in Namibia
B	Income distribution is more even in Denmark than Namibia
C	Income tax rates are higher in Namibia than in Denmark
D	GDP per capita is higher in Namibia than in Denmark

b) With reference to the chart, explain how inequality is measured.
[2]






c) Explain one reason for the difference in income inequality in Namibia and Denmark.
[2]







2. Which of the following indicators is not used in calculating the human development index?
[1]
A	GNI per capita in PPP$
B	Percentage of people living on less than $1.25 per person per day
C	Expected years of schooling
D	Life expectancy at birth






SECTION B (Data Response)
Inequality
Figure 1: Inequality within selected countries as measured by the Gini Coefficient
[image: ]







Extract 1: Changes in income inequality

Globally, the income gap between the rich and poor countries has been narrowing as some poor countries are achieving faster rates of economic growth. However, the gap between the rich and the poor has increased within many emerging economies (notably, India and China) as well as within many rich countries. This is true not only in the United States, but also in countries with a reputation for being more focussed on equality, such as Sweden.
In China increased inequality has been associated with the drive towards capitalism, helping to enrich the growing entrepreneurial class. The continued industrialisation of regions bordering the sea has helped to increase incomes of urban workers. Consequently relative poverty is increasing. Poverty is becoming increasingly difficult to address, as the rural poor are now concentrated in remote regions with difficult natural conditions.
However, at the same time, China’s rapid economic development in the past two decades has generated the most rapid decline in absolute poverty ever witnessed. It has already achieved the goal of halving the number of people in extreme poverty by 2015, set by the UN as one of eight Millennium Development Goals.
In the United States, income inequality began to widen in the 1980s largely because the poor fell behind those in the middle income group. More recently, the shift has been overwhelmingly due to a rise in the share of income going to the very top – the highest 1% of earners and above – particularly those working in the financial sector.
Analysis by The Economist suggests that the gap between poorer and richer regions of a country increased during the recession of 2008-09 in some developed economies. In Britain, the income gap between richer and poorer regions is likely to widen further as government spending cuts fall disproportionately on less prosperous parts of the country. GDP per head in the poorest quarter of Britain’s regions is now lower than the richest region of China.

Extract 2: Attempts to reduce inequality
The European Union’s “structural funds”, more than a third of the EU’s budget, are designed to shift cash from the richer to poorer regions of the single market. The United States Government has invested federal dollars into deprived regions such as West Virginia.
Unfortunately, the regional development strategies have a poor record. Despite massive transfers, the gap in participation rates between Italy’s richer north and its poorer south is still huge: only 40% of people in Calabria have a job compared with 65-70% in Lombardy and Bolzano. Even policies that, in principle, should be helpful, such as improving infrastructure, provide no simple solutions. West Virginia now has an extensive road network, but is still poor.
The best ways to combat inequality are as follows. First, governments should invest in and remove barriers to education, and refocus government spending on those that need it most. Oddly, the urgency of these kinds of reform is greatest in rich countries, where prospects for the less-skilled are poor and falling. Second, governments should eliminate subsidies for uncompetitive industries. In the emerging economies the policies should be aimed at eliminating monopolies and reducing trade barriers. Third, governments should make it easier for people to move from declining regions to prospering regions.



1. With reference to Figure 1, explain how income inequality is measured. Illustrate your answer with a Lorenz curve diagram. 
[5]

2. With reference to the information provided and your own knowledge, assess the likely reasons for the change in inequality within countries. 
[12]


3. To what extent is income inequality an essential ingredient of capitalism? 
[10]

4. Evaluate policies which a government could employ to reduce inequality within its country. 
[15]



SECTION C (Essays)

1. Examine the possible causes of an increase in income inequality within a country of your choice.
[25]


2. Evaluate ways by which income inequality and wealth inequality might be reduced in a developed country of your choice.
[25]


Find more resources at www.smootheconomics.co.uk
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